Mo T £ K F
ZO—HEMEBIRAASERRE  Wb_C
% A H AU 813 A H AR P TR

B RBAEEEEBA L, BB RR AR L.

L REE (5504, 16 EARE T4, 78 4D
| WEREE L. W XA TR, TSRS R

2 MRTRIRZ A2 M. 9P AR UL = 2 (R0 35 % BB AT 5 O R B T 5
B RS IOWER P
3.%%%%%&%@%‘ﬂ97§”£3@%),%%%%%Wéﬂi@ﬁﬁo

i RARENEEABRA AT M Routh BEHIER Nyquist B HETEMRIIA
R,

5. ARSI X . B PRV B T i 2 7

6. MRTRRCIE IS X0 SRHE R 3 2 55 7% R FURE IE J AT s ?

7. I R R B S, TR AE R R AR RS . £ = TR
RAMPEA 1= 0 WIS RAE, 30N FIRAL T X0 RIEE M.

. HEE (3L100 4y, SHAESBULEBARE)

L (1043) RHE 1Rt R SR TREAAEER L. BPABE x, VAR,
fr#s x, bR, bk AHEREERE, £ OvHREE RS

__lx]
fETJE%kl
b2 %o

I |

2. (1040 KHE 2 i REMILERE (ERERULTE).




K 2

(1540) BT R B R AR EBRE G(s) =, B

x, () = 5sin(2f — 45°) + 2 cos(r +15°) fEH T RS, *?\Sﬁgéﬁ%jfﬁﬂj 3
(%ﬁ)Eﬂﬁﬁﬁ&ﬁ%%mﬁ%%%&ﬁ%Gﬁkgﬁg%ﬁsQE*:
(1) MRS R

(@) WHBARERN K. K, . K, ;

(3) BREMMAN x (1)=5+3 B, HEHBATENRERE.
<wﬁ>aﬂ%ﬁﬁﬁﬁﬁ%%%%%ﬁﬁ&ﬁ%G@pgzgtgjogiz
(1) 1RGN I B TF R SO0 A 1

(2) WHRGRACME ¥ MEESBE K,

e

o

(@a]

6. (1540 BHERZELEHWEWE 3 Fix. ERRGERGUAEIER M, =20%,
t,=1s .
(D HERKSH KM 73
(2) AT RN AR R e bR 1 I GRZEW A=0.02), .

X, (s)

L@ £ | L

_‘ S s+1
l+7s [&—

K 3

20
s(s+10)(s+2) J
(1) EHZREITTHAEILEEREH Nyquist B (@ AN 0FE O ).

7. (15 49) BAIE SR SRR LM I L BRECH G(s) =

(2) AWHARRGERRENE, FURHES.




